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@® #3 : 6.4 ha

6.4ha DS 6, 4.8has3a T 7 A& L, 1.6ha phk 7
TERGE L, LRlowSme RICEZERL T, &£
BEEEREH L,

(BHZIZT T A, YALT T A, R ZTTOM, Y
T, s - ALEEOfTE iR L T D,

BB, ARIKERELZ LT 0y 712X H15EEIT 6. 4ha
D55 0. 4ha L 72 5)

@ =E=EZmEE: 4.0 ha
4.0hadHH, 3.2haaT 7 AL L, 0.8ha3a BT
& LT,

XKAKTDEEY

@ WUNFRE

77 A% ¢ XBMEDOFI A
A7 EY © XEEOF A
@ 73 AEORIVHREK
L5 (2019) *OFR-4ITFHHE L TND 4.2 £-C0,/ ha
[ ERFMEE LTHN,
@ 75 EIHEDORIVRE
L5 (2019) *OFER-4ITFHHE LTS 2.7 £-C0,/ ha
[ ERFMEE LTHN,
SRITHILL S« S EBH - HIE - BDHA - AT - W -
VBAT - fia KT (2019.6) ¢ EASRERICISUS B AR LI R R D

EEHEE, BATRRWIUEB (EBETY) ,Vol.75, No.1, 10-20

Q@ WIRNEFRESE

(BEE LK)

3.2ha (RELLT 7 AGIEERE) X 4.2 t-C0,/ ha
/AR (T T AGWIURED)  +

0.8 ha (BEL-FIE8EEE) X 2.7 t-C0,/ ha
/A (T BSWINRSE) = 16.6 t=C0, / 4
[(EERR (RINE)]

15.6 t—C0, / 4E




(% 1 58z

@ FERMEETE

R DOMEFENET [90% 1. WIARE DR FEMEIL 180%
LW 5,

P& U, EEIEKTRAIC & v S i 2 BAs L
TW5 L L HICHFEHRIAZ EENICHAL T D, £,
PECARERITHEMFEIZ L > THIBr L TR Y, EBmEET
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WA ARE ISR 2 FVN T 0 | R FEMEI TR &Il L
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UL &R GBIl LT, e A REm L 7=,

® RERFICEAL
F=HafH D 1EER

- MROBECEH : HEMRON8E, o~ 8 &
(1M B, 22 (218]) THRKHRAEZE, 178 (1E)
B0 AFEREITIN A B, 14/H X4 B/FX2 F/4E)

- A 132kW(180PS) FL

- TREIEERE 0 FEAIER 32 BER. A1 8 HEH
(17 (1ED) Hiz v AT 4 BRIESE, T 1
VRS, FRAMG « 4 Refi)/[B] X8 [|], s ¢ 1 IRefl/[m] X 8 [=])
- BRHOEH: HBA

- BEER
C0; HFH & (t-C0,) = R BEFRE (h) x 5 (kW) x #R$H & =
(1/kWh) x 1/1000 x $EH %%

= (32+8) X 132 X 0.046 X 1/1000 X 2.71

= 0.65 (t-C0,)

R—R54 S DREHS - B
tre DR

N—RF A0 t-C0, /
TR ANZIIIE DS OKEEKY 10~16m F2EE) Th
0. KEGEEN A Z D K5 e BRIFAAE L TV e o 7o d
T, N—R2F A 13 0t-C0, / & LT,

LTy FERERRDRINE

10.5 t-C0;, / 4E
(ZDH9b, ARIKEREELZ LT 0y 71255 E
1% 0. 7-C0, / 4F)

® EBEFEHK :
T T A ORI
Mg : 3.2 X 90% = 2.88 (ha)
WNARE : 4.2 X 80% = 3.36 (t-CO./ ha / 4F)
DRIV E  : 2.88 X 3.36 = 9.67 (t-C0, / 4F)
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7 & DI &
MfE . 0.8 X 90% = 0.72 (ha)
WAREL © 2.7 X 80% = 2.16 (t—CO, / ha / 4F)
e 0.72 X 2.16 = 1.55 (t—CO, / 4F)

7 LYy NERGERT SR DO W IN &
(9.67 + 1.55) -0.65 - 0 = 10.57 (t-CO, / 4F)
= 10.5 (t-C0, / #)




